
Q1) a) What do you mean of part-of-speech Tagging ?What is the need of this
Task in NLP. [5]

b) Differentiate between Natural languages and Programming languages.[5]
c) Explain Tokenization with its different types. [5]

OR
Q2) a) What is natural language processing (NLP)? Discuss various stages

involved in NLP process with suitable example. [8]
b) Once a day the weather is observed as one of state 1 : rainy, state 2 :

cloudy, state 3 : sunny. [7]
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Given that the weather on day 1(t=1) is sunny (state 3) ,What is the
probability that the weather for next 7 days will be “sun-sun-rain-rain-
sun-cloudy-sun”?

Q3) a) Define Morphology? Explain stem and affix classes of morphemes with
Example. [5]

b) Explain CFG with suitable example. [5]
c) What are different techniques for the semantic analysis for the Statement.

[5]
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OR

Q4) a) Explain Derivational and Inflectional morphology in detail with suitable
Example. [8]

b) Explain with suitable examples following relationship between word
meanings, 1. Homonymy 2. Polysemy 3. Synonymy 4. Hyponymy
5. Antonymy 6. Hypernomy 7. Meronomy [7]



CEG
P0

13
09

1

49
.2

48
.2

16
.2

38
 2

6/
03

/2
02

4 
13

:4
1:

04
 st

at
ic

-2
38CEG

P0
13

09
1

49
.2

48
.2

16
.2

38
 2

6/
03

/2
02

4 
13

:4
1:

04
 st

at
ic

-2
38

CEG
P0

13
09

1

49
.2

48
.2

16
.2

38
 2

6/
03

/2
02

4 
13

:4
1:

04
 st

at
ic

-2
38


